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(A—4)(A+6) = (A+DA—-7)
A2—2A—24 — A2—49
(r+ )= 20r+y)— 24 = (tyta9
X2+ 2xy+y?—2x—2y—24 = x2+2xy+y2—49
(x—y+5)(x—y—8) @ (x—y—12)x—y+12)
(A+5)(A—8) = (A—12)(A+12)
A?—3A—40 = A’—144
(— )= 3(—1)—40 = (r—y*144
x2—2xy+y?—3x+3y—40 = x2—2xyty*—144
(x+y—1)x+y—17) @ (Bx—2y—1)(Bx—2y+1)
A—DA—7) = (A—DA+1D)
A?—8A+7 = A1
() =84ty +7 = (Bxr—29)"1
X2+ 2xy+y2—8x—8y+7 = 9x2—12xy +4y>—1
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(A+3)(A—9) = (A+3)(A—3)
A?—6A—27 — A9
(— )= 6(x—y)—27 = @Qx—5y)—9
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(A+2)(A+10) = (A—8)(A+8)
A2+ 12A+20 = A’—64
(2x— )+ 12(2x—y) +20 — (5xt4ay)64
4x*—dxy+y*+24x—12y+20 = 25x2+40xy +16y*—64
(8x+2y—5)(3x+2y+1) ® (x—9y—6)(x—9y+6)
(A—5)(A+1) = (A—6)(A+6)
A?—4A—5 = A>—36
(3x+2y)—4(3x+2y)—5 = (x—9y)—36




